

			Vendor Ranking		Page 1 of 1
Letting:	05211005	October 05, 2021 2:00 PM	Call Order: 006	Contract:	E5V96-R0
District:	District 5		Counties: LAKE, ORANGE	Fed Aid No	: N/A
Contract Time:	365 CALEN	DAR DAYS		Project(s):	42917627216 (*)
Contract Desc:	Desilt & Vide	90			

Ranl	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	EARTH VIEW, LLC	Responsive	Winning bid	\$335,174.08	100.00%
2	MAER HOMES, LLC	Responsive	Non-Winning Bid	\$336,737.00	100.47%
3	SHENANDOAH GENERAL CONSTRUCTION, LLC	Responsive	Non-Winning Bid	\$364,040.00	108.61%
4	FLOTECH ENVIRONMENTAL LLC	Responsive	Non-Winning Bid	\$379,793.60	113.31%
5	ENVIROWASTE SERVICES GROUP, INC.	Responsive	Non-Winning Bid	\$427,509.38	127.55%
6	USA SERVICES OF FLORIDA, INC.	Responsive	Non-Winning Bid	\$517,003.25	154.25%
7	ATLANTIC PIPE SERVICES, LLC	Responsive	Non-Winning Bid	\$539,127.50	160.85%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.



	Tabulation of Bids								
Letting:	05211005	October 05, 2021	Call Order:	006	Contract:	E5V96-R0			
District:	District 5		Counties:	LAKE, ORANGE	Fed Aid No	: N/A			
Contract Time:	365 CALENI	DAR DAYS			Project(s):	42917627216 (*)		
Contract Descr	: Desilt & Vide	90							

FDOT District 5 Proposal ID No: E5V96 Financial Project No.: 429176-2-72-16 Fiscal Year: 2022 Counties: Lake, Orange Calendar Days: 365

This is a Work Document driven Contract with a budgetary ceiling of \$501,342.00. This Contract includes an option for 2 renewals at 12 months each.

Intent:

The work under this Contract consists of desilting and video inspection of storm water pipes, box culverts, and other drainage structures in various locations within Department rights of way, Department owned easements or other Department owned property in Lake and Orange Counties.

The quantities shown on the Bid Price Proposal are approximate and only represent estimated planned requirements based on historical or specific project needs. The Department does not guarantee any maximum or minimum quantity, any range of quantities, or the exact quantities shown for each bid item. The Departments estimated quantities and the Contractors bid price will be used to calculate a total bid amount. This total bid amount will then be used to determine the low bidder; however, actual payment under the awarded contract will be based on actual quantities completed. For this Contract in which specific sites are not identified at the time of letting, the Engineer will issue a Work Document. Work Documents will identify the location, description, amount of work to be accomplished, and the number of calendar days to complete the work.

Line No / Item ID Alternate	Quantity Units	(1) EARTH V	/IEW, LLC	(2) MAER HO	OMES, LLC	``	OAH GENERAL CTION, LLC
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (CLI	EAN DRAIN	IAGE STRUCTUR	ES (LF				
0005 0430950 DESILTING CONCRETE BOX CULVERT	50.000 CY	75.00000	3,750.00	150.00000	7,500.00	200.00000	10,000.00
0010 E425 73 1 CLEANING MANHOLES AND INLETS (MECHANICAL)	30.000 EA	75.00000	2,250.00	75.00000	2,250.00	250.00000	7,500.00



Tabulation of Bids

Page 2 of 7

Lettin	g:	05211005	October 05, 202	21 Ca l	l Order: 006		Contract:	E5V96-R0	
	e No / Item ID Description		e Quantity Units	(1) EARTH	VIEW, LLC	(2) MAER H	OMES, LLC		DAH GENERAL CTION, LLC
() in	dicates item is	bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION	0001	(CLEAN DRAIN	IAGE STRUCTUR	ES (LF				
0015 DESILT	E430 94 1 PIPE, 0 to 24	4"	56,550.000 LF	1.98000	111,969.00	2.50000	141,375.00	1.50000	84,825.00
0020 DESILT	E430 94 2 PIPE, 25-36	n	13,252.000 LF	4.54000	60,164.08	4.50000	59,634.00	2.50000	33,130.00
0025 DESILT	E430 94 3 PIPE, 37-48	n.	5,367.000 LF	8.00000	42,936.00	9.00000	48,303.00	5.00000	26,835.00
0030 DESILT	E430 94 4 PIPE, 49-60	ı	2,800.000 LF	12.00000	33,600.00	11.00000	30,800.00	12.00000	33,600.00
0035 DESILT	E430 94 5 PIPE, 61" O	R GREATER	450.000 LF	22.00000	9,900.00	17.00000	7,650.00	25.00000	11,250.00
0040 STORM CAMEF		PECTION (VIDE	78,450.000 EO LF	0.90000	70,605.00	0.50000	39,225.00	2.00000	156,900.00
		N DRAINAGE S CTURES (LF)	ection Totals:		\$335,174.08		\$336,737.00		\$364,040.00

Contract Grand Totals:

\$336,737.00

364,040.00



Tabulation of Bids

Page 3 of 7

Letting	g: 05	5211005 O	october 05, 202	21 Ca l	l Order: 006		Contract:	E5V96-R0	
	No / Item ID Description	Alternate	Quantity Units	(4) FLO ENVIRONME		(5) ENVIROWAS GROUP			RVICES OF DA, INC.
() inc	dicates item is bi	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001 (CLEAN DRAIN	IAGE STRUCTUR	ES (LF				
0005 DESILT	0430950 ING CONCRE	TE BOX CULVE	50.000 RT CY	96.00000	4,800.00	200.00000	10,000.00	125.00000	6,250.00
	E425 73 1 ING MANHOLE ANICAL)	ES AND INLETS	30.000 EA	85.00000	2,550.00	250.00000	7,500.00	150.00000	4,500.00
0015 DESILT	E430 94 1 PIPE, 0 to 24"		56,550.000 LF	2.97000	167,953.50	3.45000	195,097.50	3.75000	212,062.50
0020 DESILT	E430 94 2 PIPE, 25-36"		13,252.000 LF	3.90000	51,682.80	4.30000	56,983.60	4.75000	62,947.00
0025 DESILT	E430 94 3 PIPE, 37-48"		5,367.000 LF	6.90000	37,032.30	6.84000	36,710.28	6.25000	33,543.75
0030 DESILT	E430 94 4 PIPE, 49-60"		2,800.000 LF	11.00000	30,800.00	10.35000	28,980.00	18.00000	50,400.00
0035 DESILT	E430 94 5 PIPE, 61" OR	GREATER	450.000 LF	14.50000	6,525.00	14.95000	6,727.50	22.25000	10,012.50
0040 STORM CAMER		PECTION (VIDEC	78,450.000 D LF	1.00000	78,450.00	1.09000	85,510.50	1.75000	137,287.50



Page 4 of 7

Letting:	05211005	October 05, 20	21 C a	all Order: 006		Contract:	E5V96-R0	
Line No / Ite Item Descri		te Quantity Units	· · ·	OTECH IENTAL LLC	· · /	ASTE SERVICES JP, INC.	· · ·	SERVICES OF RIDA, INC.
() indicates ite	em is bid as Lump Sun	n	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECT	TION: 0001	(CLEAN DRAIN	IAGE STRUCTU	RES (LF				
	LEAN DRAINAGE TRUCTURES (LF)	Section Totals:		\$379,793.60		\$427,509.38		\$517,003.25

Contract Grand Totals:	\$379,793.60	\$427,509.38	517,003.25



10/15/2021

Tabulation of Bids

Page 5 of 7

Lettin	g: 05	5211005 C	ctober 05, 20	21 Ca l	I Order: 006		Contract:	E5V96-R0	
	e No / Item ID Description	Alternate	Quantity Units	(7) ATLANTIC PI LL					
() in	dicates item is bi	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001 (CLEAN DRAIN	AGE STRUCTUR	ES (LF				
0005 DESILT	0430950 FING CONCRE	TE BOX CULVE	50.000 RT CY	175.00000	8,750.00				
	E425 73 1 ING MANHOLE ANICAL)	ES AND INLETS	30.000 EA	95.00000	2,850.00				
0015 DESILT	E430 94 1 TPIPE, 0 to 24"		56,550.000 LF	4.25000	240,337.50				
0020 DESILT	E430 94 2 PIPE, 25-36"		13,252.000 LF	6.00000	79,512.00				
0025 DESILT	E430 94 3 TPIPE, 37-48"		5,367.000 LF	9.00000	48,303.00				
0030 DESILT	E430 94 4 PIPE, 49-60"		2,800.000 LF	12.00000	33,600.00				
0035 DESILT	E430 94 5 TPIPE, 61" OR	GREATER	450.000 LF	18.00000	8,100.00				
0040 STORM CAMEF		PECTION (VIDEC	78,450.000 D LF	1.50000	117,675.00				



Tabulation of Bids

Page 6 of 7

Letting:	05211005	October 05, 20	21 C a	all Order: 006		Contract:	E5V96-R0	
Line No / Item Item Descript		te Quantity Units		PIPE SERVICES, LC				
() indicates item	n is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	ON: 0001	(CLEAN DRAIN	AGE STRUCTU	RES (LF				
	EAN DRAINAGE S RUCTURES (LF)	Section Totals:		\$539,127.50				

Contract Grand Totals:

\$539,127.50



Page 7 of 7

Letting:	05211005	October 05, 2021	Call Order: 006	Contract:	E5V96-R0
NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute					

a waiver of proceedings under chapter 120, Florida Statutes.